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Flowers that are wind-pollinated are

e G5 Bile L A8 g

generally
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Colorful and small

, | Dull and scented Bhaks 4Ll ®
Large and colorful L5l 58
c.

i i Small and dull 135 Buia
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The picture below shows part of an African
ecosystem. Which best explains how these

Animals share the same ecosystem?

Gl i Al G 1354 oLl §jgiall Jgkid

S (Jadl B £,055 AT i) (g
Tl AURH SLIgGal) oda AGIASS

g uapl) U5 psal AT Sl LS

Both are carnivores that hunt the same prey

Jalall laglie aiiad 5 daala i Sllga LIS

Both are producers that make their own food

Ly Lpnans an3 Ll L il ililganll duasd Lagia S

Each is prey for predators, so they protect each other

G Y\ I A 2 S L K

- Each has a different food source, so they do not compete
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Which best describes budding? ?pb,;’m Chai L ﬂm!i L
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Offspring develop from a fertilized egg m".\.‘. 4.."4'. Wy 3...1“ 3k
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 Offspring develop on a parent ¢l . al e gedy i (v}
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Offspring develop from a stem 3?11 e m‘ rape

Offspring develop from two parents Ué-‘-‘b-“ {_\JJI )3k




Animals that carry out internal

Bile o304 CladYL Aga ) Abijgal
fertilization generally i leadl psi (Al gl
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Produce many eggs  (aill (a 35Kz

Produce only one egg their entire life lgla Jlsh i faals L o

Produce thousands of offspring. Slazall Gyl c.fé
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IScienﬁﬂc theories are: 5 Ble dialal) &4 Jh:.'.ll
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Scientist’s opinions.



b.

2.

Which property depends on the pull of gravity? Shdlal 58 b L Aka
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Weight (34l (v




Use the figure below to answer the question: e Ce uqu 2L 355l PRESIR)
Windmills can generate electricity from: 1O L) L ol Calghal (g
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L. Gasoline  (dgjald

, | Solar Energy RA P IA

Energy from Wind cl Al
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4 Energy from moving water  ASalal sluall &l



Which is an alternative source of energy? eala) aalka slas Ga G b (:;‘
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Natural gas {,g.}!i Sl
. Coal aadl)

i I\ The wind C% (V]
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a.

b.

c.
d.
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Study this picture. Syelall o3 G
Which part of the flower below is the 0ol Lad Al a3l 5 AT £ Ga 032
arrow pointing to?
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Which of the following is a plant il G oa NS 'y L Laa g

adaptation for a hot, dry climate? fuilally jlall bl aa

| l-eammg Outcomes Covered %

l o 341

.| Large, thin leaves dacd g 5080 (39!

Bright-colored flowers aalil ey e

Lengthened growing season gaill Jiad Jgha

o

i __Thick, waxy leaves and stems  duaatlly d<ud) lasallg @bﬂl: O
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Which are examples of qualitative data? eae i clibalt Yiha L Laa gl

Learning Outcomes Covered

o 1.14

_ | Color and Mass ~ 4E&ll; {4l
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| Smell and Volume .34l a5
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Based on the information in the food web gl A Bigasall Claghall AS Ly

below, which two animals are in competition? ss,éus & Cilgia (53 colial A%5)3a1)
snake 2. o8
Slealy)
toad \
bird
mouse /
/:/47 grasshopper
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Mouse and Snake Sladng sl

5 Toad and Grasshopper — LXAllg ‘&_\Lal\
: ety . 4 Oi
. Snake and Bird Jilally GLsdll

Bird and Toad ¢ saally sl
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Study this picture. S)skall o328 S

This plant is reproducing using Ln.\a‘.'u.u «';.L;ﬂ\ (K7 )SL"@
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Seeds Sl)

Budding  .c,all

Cones doylall
Vegetative propagation (5yxnall Il (v



Which was the independent variable in the ¢alial L padl) 2 Jiieal) jadad) L A

experiment below?

Type of plant Slill g8
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,  Health of plant <.l 4L
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Which is a relationship between two

organisms that benefits both organisms?

Jala 4 P dﬁfﬂ a5 Jg.L.. Ay ola @i
ez Zhud)
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Eild e i) &g — oliadl of il
Robin — blackberries —» bobcat

¥
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Bobcat — blackberries — robin
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Robin — bobcat — blackberries
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Blackberries —» robin — bobcat




What kind of asexual reproduction €3 guall duda ol (g2l) iaddl Al g4 La
Does the picture show?
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| Vegetative propagation (guaill il
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Which diagram shows the pupa stage of aayan sk ’c..:a_,é.hhu’ A f;‘
the butterfly’s life cycle? ¢AE)A) Bl 338
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Which is a behavioral adaptation? ?lj;_,.\..ﬁ e 3-;: (‘qﬁl La
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b.
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What is the special role an organism P ) il A aghs (g3 paldd) pall L
plays in a community? £ ilal adine
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Habitat
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i Ecosystem iy allas .
. . Population adbal dolen
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Which structure allows plants to make U8 (a gl ey LAY Zald q.'ii\ i.,udl La

food through photosynthesis? ?5:13.111 e L)
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Cell wall 21 Jas £
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